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ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
7 100kN/m##8x5 | 1.00 | 000 ~ 241 137.71 |3mZE#BAD| — ~ — — — | 100kN/mM%&#82% | 1.00 | 11.564 ~ 3260 13771 |3m&E#BZ% - ~ — — —
st 1.00 | 241 ~ 1020 100.00 | #nLst | 0.00 ~ 1020 2.88 14.56 ThLst 1.00 | 5.00 ~ 1154 100.00 | =nLst | 6,00 ~ 3260| 2.88 14.56
2 100kN/m%E#Z5| 100|000 ~ 195 13003 |3m&EEZBl — ~ — — — | 100kN/m%E#8z5 | 1.00 | 1266 ~ 3580 130.03 |3mEBZ3 - ~ — — —
ZhLst 1.00 | 195 ~ 973 100.00 | #hst | 0oo ~ 973|279 14.10 FnLsn 1.00 | 6.00 ~ 1266 100.00 | 0S| 6.00 ~ 3580 2.79 14.10
3 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
st 1.00 | 0.00 ~ 759 9713 | =N | 000 ~ 7.59| 1.94 9.80 ThList 1.00 | 6.00 ~ 1177 97.13 | #hH | 6,00 ~ 11.77| 1.94 9.80
4 100kN/mM%#8Z % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 5.67 70.79 | FhS | 0oo ~ 567 1.92 9.70 ThLst 1.00 | 5.00 ~ 6.73 70.79 | ThS | 6,00 ~ 6.73| 1.92 9.70
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 000 ~ 515 64.24 | FnLSY |0oo ~ 515|211 10.67 ThList 1.00 | .00 ~ 7.10 64.24 | Ths | 6,00 ~ 710|211 10.67
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 1.00 | 000 ~ 675 85.30 | #nst | 000 ~ 6.75| 2.02 10.21 Fnst 1.00 | 5.00 ~ 9.50 85.30 | #nLS | 5,00 ~ 9.60 )| 2.02 10.21
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ B - ~ — — —
st 1.00 | 0.00 ~ 6.75 85.32 | #ns | 0oo ~ 6.75| 2.02 10.20 ZhLst 1.00 | 6.00 ~ 950 85.32 | #nLS | 6,00 ~ 9.60)| 2.02 10.20
100kN/MZ#8 2 % ~ 3mEEZD ~ 100kN/mM%E# 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/mM%EZ 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEBZ D ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




